
M
\−→
H

R

∂t \ ; \bY [
= ∂t\
Y[

; \b+ \ ; ∂t\b
Y[

LHS = H ; \ ; \b
Y [

= −\b; H ; \
Y [

− \ ; \b;H
Y [

= H ; \
Y [

; \b+ \ ; H ; \b
Y [

= RHS

∂t\ = 0 = ∂t \b� ∂t \ ; \bY [
= 0

−
H D \ = H ; \:

−
H

m
m−
\ =

m
H ; \
Y [

−
H ;

−
K = H ;K

−
H ;

−
K

Y [
D \ =

−
H D

−
K D \
Y [

−
−
K D

−
H D \
Y [

= H ; K ; \
Y [

−K ; H ; \
Y [

= −\ ; H ;K
Y [

= H ;K
Y [

; \ = H ;K D \

mt = m exp
(
t
−
H

)
�

•mt =
−
H

mt

∂t mt
\ =

mt

H ; \
Y [

LHS = •mt mt−
\ =

−
H

mt

mt−
\ = RHS


